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Question No. 1

Perform this division (6m*+ 13m—15) = (m+ 3 )

om—35
6m—5+— M(I =
m-—5
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Question No, 4
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Question No. 13
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Find the quotient ™ - x3
a—1 x~—1
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Question No. 13

: . +1 2_4q
Find the quotient = - x3
X—1 x=—1
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Use the Quadratjc formuly ¢, solve thjg €quation-
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Question No. 15
Factor : (4x—y)3-125

" ((x—y) + 5)((4x—y)* ~ 5(4x — y) + 25)
- ((4x—y) + 5)((4x—y)? - 10(4x —y) + 25)

=y - 5)((4xy)” + 5ax—3) + 25)

- ((x=y) =5)((4x—y)* + 10(4x—y) + 25)
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Givep ¢ : L

(7} then
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Question No. 6
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Evaluate — (2:3)
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Question No. 4

Simplify (-5p*)(-8p?)

- —40pn2



‏iPad ‏Tariq


' Question No. 7

E

" Use the Venn diagram to determine U

— v
l(?;il \L‘aa
e |
\ jﬁ3xﬂxf n Y

\i:__;.,,./‘ “

N i
. ,-“
T e

(Pu=101.2345678 sﬂ)

/ 10

O us=qy



‏iPad ‏Tariq

‏iPad ‏Tariq


1
1

Question No. 7
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Use the Venn diagram to determine U

4‘U={0.1~2‘ :
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" Question No. 1

i The value of V—4 is
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Question No. 2

Factor: €y _ x—15

(2x~—3)(3;r——5)
(2x + D3 =
(6x+3)(:c~5)
(6x - 3)(x+ 5)
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Question No. 3

Perform the indicated operation.
(—4 + 8i) + —61L



‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq


['fr otal questions in exam: 25 | Answered: 8

—
' Question No. 10

Using set notation, the elements belonging to the set:
{x] x is a natural number less than 2} are

o g
()
i

105



‏iPad ‏Tariq




‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq

‏iPad ‏Tariq


MKCL QFS

Question No. 18

Ita band ¢ are real numbers with a = b. then

@+C=.(b+c)
A+C>bh+g
A+Cc<b+¢

aA+Cc=pbh+

—_—
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Question No. 10

The equation x2 + 225 = 0 has

2 real solutions

(O 2 imaginary solutiol
O 1 real solution

() No solution
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- The solution set of the equation 2(x+3)=2x-6 is
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L ® All real numbers { 7/ 1138l
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Question No. 20

Perform the division -
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Question No. 3

perform the indicated operation.

(—4+8i) ~ —6i
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X+ (y+3)=x+(3+y)
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@ Assocative property of multiphcation
€ Commutative property of agamon

@ \gentity property of addmon

“ Inverse property of addition
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Question No. 7

Solve A = P(1+ nr) forr

J P-A
r:-;l- A’~Q*~QY\Y
Pn
s
B /o
._A fl {’
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Question No. 8

' = 2
| Simplify the expression .,/[x—m)

@ x-10

| x+10]
® x+10
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Perform this divis m+13m—15)=(m+ 3)
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Question No. 10

The equation x? + 225 = 0 has

- © 2 real solutions

g2 Imaginary solutions
O 1 real solution

) No solution
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Question No, 23

Suppose that n € N and n < 4. The degree of the polynomial

frn)

12
13

(=" — 22y + 2%).(y7"2% — 327y + 5y°) is

(N+4)(n+2)
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Question No, 23

Suppose that n € N and n < 4. The degree of the polynomial

13

(=" — 22y + 2%).(y7"2% — 327y + 5y°) is

(N+4)(n+2)
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The imagmary unit | equal to
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Use the discriminate to determine the tvpe of the solution for
4" = 6x—7T

2 irrational salutions

i: camplex solunnnsl 6{7<,L—— éK "(‘7 Alsrey

1 ratianal solution
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2 camplex solutions
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Use the discriminate to determine the tvpe of the solution for
4" = 6x—7T

2 irrational salutions

2 camplex solutions

1 ratianal solution

2 ratianal solutions


‏iPad ‏Tariq




‏iPad ‏Tariq




‏iPad ‏Tariq




‏iPad ‏Tariq


. TP TR T T T e i A
(e R i

i ot B et L l

MKCL OES

1 Total questions in exam: 25 | Answered: 19 Il

Question No. 25

Solving the equation 2(3x-4a)+4b=5x+4(b-a) for X gives
(/,,//”’—‘\s

§x~Fu gl e Gk <.
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3b+5a

= —4a3 é)(—g%”/ ——C( Xq_
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Question No. 19

The roots of x2 — “—3-1'““6 are

'@
3+i 15
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Question No. 5
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It U Is a universal set then the complement of U is equal to
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Question No. 5

U

i L

S a universal set then the complement of U is equal to
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i ety
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Question No. 6

~4/3

Evaluate— (2::3)

_ 256
8ix?

g1x?t

—

256

81x*
256
256

81x%
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Total questions in exam 28 | Answered 0

Question Na_ 1

Suppose r i a real number. FEvaluate the expression —3(r — 1)°
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| Question No. 9

Suppose that n € N and n < 4. The degree of the polynomial

(="y* — 2%y + 2y). (y"22 — 32"y + 59°) is

@ 13
:(n+ﬂm+2}
< 12
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